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Cluster: 0062 ptr; resid: 0.39; r/c: 27/64

x.range

upstream meme PSSM #1; e=3.2e+03

1 3 5 7 9 111 3 5 7 9

x.range
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upstream meme PSSM #2; e=3.1e+05

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16
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34119
7639

10970
12614

20143

20872

27429 31632

31764

33928

3527

38928

41522

42329

4266

43422

44153

44342

45013

45022

45538 49991

50051

50445

59877

974

c60199−58325_cell

string −500 −400 −300 −200 −100 −1
59877NA

c60199−58325_cellNA
31764−0.02
42329−0.09
45538−0.19
45013−0.20
33928−0.45

7639−0.52
974−0.53

50445−0.85
41522−0.91
12614−0.94
44342−1.08
50051−1.37
27429−1.60
38928−1.63
45022−1.75
20872−1.92
49991−1.95
44153−2.21
34119−2.29
20143−2.52

4266−2.69
3527−3.01

43422−5.41
31632−6.56
10970−7.88

log10(P) upstream meme1 2 log10(P.clust)=−1.94; 27 seqs; 26 uniq
c(0.5, 2.5)
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